Name: Mental Addition

4 N
\Graveyard Fences )

Add to find the sums. Then, solve the riddle by
matching the letters to the blank lines below.

[G) 200 + 300 = [E)] 30+ 80= \ é
7] 4,000 + 2,000 = 900 + 500 =
&

1) 70 + 60 = P) 20+20 = @ .
(E) 80 +40 = 1) 600 + 600 = Vs
O] 400 + 400 = G 900 + 200 =
[E] 9,000 + 8,000 = NJ 1,000 + 1,000=

[®] 2,000 + 2,000 =
0] 5,000+ 5,000 = D) 4,000 + 5,000 =

1) 7,000+ 7,000 =
[A] 300 + 300 = [E] 100 + 900 =
7,000 + 4,000 = 7,000 + 9,000 = [N) 9,000 + 3,000 =

Why are there usually fences around graveyards?

Because

6,000 120 10,000 40 11,000 110
600 4,000 17,000 9,000 1,400 1,200 2,000 500
130 800 1,100 1,000 16,000 14,000 12,000
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ANSWER KEY Mental Addition

4 N
KGrc:veyc::rd Fences )

Add to find the sums. Then, solve the riddle by |
matching the letters to the blank lines below. S

200 + 300 = 500 ) 30+80=110 ;ﬁﬂé_’

V

[P} 4,000 + 2,000 = 6,000 900+ 500 =1,400 —

&
1) 70+ 60 = 130 P) 20+20 =40 Q .
E) 80 +40 = 120 1) 600 + 600 = 1,200 Vi

[0] 400 + 400 =800 [G] 900+ 200 =1,100
(E] 9,000+ 8,000=17,000 [N] 1,000+ 1,000=2,000

[R] 2,000 + 2,000 = 4,000
(0] 5,000 +5,000=10,000 [p] 4,000+ 5,000 =9,000

7,000 + 7,000 = 14,000
[A] 300 +300 =600 [(E] 100+ 900 = 1,000

(L] 7,000 + 4,000 =11,000 7,000 +9,000=16,000 [N] 9,000 +3,000=11,000

Why are there usually fences around graveyards?

Because P E O P L E
6,000 120 10,000 40 11,000 110

A R E D Y I N G
600 4,000 17,000 ?.000 1,400 1,200 2,000 500
T O G E T I N
130 800 1,100 1,000 16,000 14,000 12,000
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